

Houghton Mifflin Harcourt

Proposal #008381895 Prepared For **Newport Ind School District**

> Attention: Darla Payne darla.payne@newport.kyschools.us

> > For the Purchase of:

Math In Focus GRK-8 2-Year

Prepared By Lisa Quinlivan lisa.quinlivan@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for Professional Services purchased, must be submitted at least 30 days before the service event date.

> For greater detail, the complete Terms of Purchases may be reviewed here: http://www.hmhco.com/common/terms-conditions

Coupon Code: PRODPB10

Send Check Payments to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Darla Payne darla.payne@newport.kyschools.us

HMH Confidential and Proprietary

Send Orders to: k12orders@hmhco.com FAX: 800-269-5232 **HMH Orders** 9400 Southpark Center Loop Orlando, FL 32819-8647

Proposal for Newport Ind School District

Proposal for Expiration Date: 6/17/2022

	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	<u>Grade K</u> Student Digital Li	icaneae					
	9780358615415		\$40.00	100	\$4,000.00	\$400.00	\$3,600.00
1	Includes: Digital Student Re Implementation S Total for Student	esources 2 Year Grades K-5 ruccess	\$3,600.00				
7	Teacher Digital Li	icenses					
1815753	Includes:	Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades	\$300.00	8	\$2,400.00	\$240.00	\$2,160.00
	K-5 Access to Teache						
	Total for Teacher		\$2,160.00				
		Available for Purchase					
	Feacher Materials	Math in Focus CCSS Teacher Edition Set	#207.F0	0	#C 200 00	#220.00	60.070.00
1750488		Grade K	\$287.50	8	\$2,300.00	\$230.00	\$2,070.00
1748782 1748771		Math in Focus Posters Grade K Math in Focus Teacher and Student Activity Cards Grade K	\$32.50 \$69.70	8 8	\$260.00 \$557.60	\$26.00 \$55.76	\$234.00 \$501.84
1788279	9780358391005	Math in Focus Classroom Manipulatives Kit Grade K	\$630.55	8	\$5,044.40	\$504.48	\$4,539.92
	Student Materials						
1775653	9780358291985	2020 Math in Focus Student Edition Set 2 Year Print Grade K	\$20.00	100	\$2,000.00	\$200.00	\$1,800.00
	Total for A la Cart	te Items Available for Purchase	\$9,145.76				
Total f	or Grade K		\$14,905.76				
	<u>Grade 1</u> Student Digital Li	censes					
	_	Math In Focus CCSS Student License Digital 2	\$40.00	116	\$4,640.00	\$464.00	\$4,176.00
	Includes:	Year Digital Grades K-5					
	Implementation S	esources 2 Year Grades K-5 uccess					
	Total for Student		\$4,176.00				
	reacher Digital Li		******	40	#0.000.00	******	#0 700 00
1815/53		Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5	\$300.00	10	\$3,000.00	\$300.00	\$2,700.00
	Includes: Math In Focus CC K-5	SS Digital Teacher Resources 2 Year Grades					
T	Access to Teache Fotal for Teacher		\$2,700.00				
A	A la Carte Items A	Available for Purchase					
T	Teacher Materials	S					
1750489	9780358116974	Math in Focus CCSS Teacher Edition Set Grade 1	\$287.50	10	\$2,875.00	\$287.50	\$2,587.50
	9780358105046 9780358390930	Math in Focus Posters Grade 1 Math in Focus Classroom Manipulatives Kit Grade 1	\$32.50 \$896.05	10 10	\$325.00 \$8,960.50	\$32.50 \$896.10	\$292.50 \$8,064.40
S	Student Materials						
1775657	9780358292029	2020 Math in Focus Student Edition Set 2 Year Print Grade 1	\$20.00	116	\$2,320.00	\$232.00	\$2,088.00
Т	otal for A la Cart	te Items Available for Purchase	\$13,032.40				

<u>Total for Grade 1</u> \$19,908.40

Coupon Code: PRODPB10

Attention: Darla Payne darla.payne@newport.kyschools.us

k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Send Orders to:

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Newport Ind School District

Proposal for	Expiration Date: 6/17/2022
11 10 1 10 1 1	

ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
<u>Grade</u> Student Digital						
1815742 978035861541		\$40.00	86	\$3,440.00	\$344.00	\$3,096.00
Includes:	Year Digital Grades K-5	Ψ10.00	00	ψο, 110.00	Ψο 141.00	φο,σσσ.σσ
Digital Student Implementation	Resources 2 Year Grades K-5 า Success nt Digital Licenses	\$3,096.00				
Teacher Digital	G	, , , , , , , , , , , , , , , , , , , ,				
1815753 978035861542	2 Math In Focus CCSS Teacher License Digital 2	\$300.00	8	\$2,400.00	\$240.00	\$2,160.00
Includes: Math In Focus K-5	Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades					
Access to Teac	cher's Corner er Digital Licenses	\$2,160.00				
A la Carte Item	s Available for Purchase					
Teacher Materi	als					
1750490 978035811698	1 Math in Focus CCSS Teacher Edition Set Grade 2	\$287.50	8	\$2,300.00	\$230.00	\$2,070.00
1748784 978035810505 1788460 978035839094		\$32.50 \$991.06	8 8	\$260.00 \$7,928.48	\$26.00 \$792.88	\$234.00 \$7,135.60
Student Materia	als					
1775661 978035829206	7 2020 Math in Focus Student Edition Set 2 Year Print Grade 2	\$20.00	86	\$1,720.00	\$172.00	\$1,548.00
Total for A la C	arte Items Available for Purchase	\$10,987.60				
Total for Grade 2		\$16,243.60				
	2					
<u>Grade</u> Student Digital						
Student Digital 1815742 978035861541	Licenses	\$40.00	98	\$3,920.00	\$392.00	\$3,528.00
Student Digital 1815742 978035861541 Includes: Digital Student Implementation	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 Success		98	\$3,920.00	\$392.00	\$3,528.00
Student Digital 1815742 978035861541 Includes: Digital Student Implementatior Total for Stude	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 Success nt Digital Licenses	\$40.00 \$3,528.00	98	\$3,920.00	\$392.00	\$3,528.00
Student Digital 1815742 978035861541 Includes: Digital Student Implementatior Total for Stude Teacher Digital 1815753 978035861542	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 Success nt Digital Licenses		98	\$3,920.00 \$600.00	\$392.00 \$60.00	\$3,528.00 \$540.00
Student Digital 1815742 978035861541 Includes: Digital Student Implementation Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5	Licenses 5 Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 a Success nt Digital Licenses Licenses 2 Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades	\$3,528.00				
Student Digital 1815742 978035861541 Includes: Digital Student Implementatior Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teac	Licenses 5 Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 a Success nt Digital Licenses Licenses 2 Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades	\$3,528.00				
Student Digital 1815742 978035861541 Includes: Digital Student Implementation Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teac Total for Teach	Licenses 5 Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 1 Success 1nt Digital Licenses Licenses 2 Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades Scher's Corner	\$3,528.00 \$300.00				
Student Digital 1815742 978035861541 Includes: Digital Student Implementation Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teac Total for Teach	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 n Success Int Digital Licenses Licenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades wher's Corner er Digital Licenses Available for Purchase	\$3,528.00 \$300.00				
Student Digital 1815742 978035861541 Includes: Digital Student Implementatior Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teac Total for Teach A la Carte Items	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 Success Int Digital Licenses Licenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades Cher's Corner er Digital Licenses Available for Purchase als Math in Focus CCSS Teacher Edition Set	\$3,528.00 \$300.00				
Student Digital 1815742 978035861541 Includes: Digital Student Implementatior Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teac Total for Teach A la Carte Items Teacher Materia	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 I Success Int Digital Licenses Licenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades Scher's Corner er Digital Licenses S Available for Purchase als Math in Focus CCSS Teacher Edition Set Grade 3 Math in Focus Posters Grade 3	\$3,528.00 \$300.00 \$540.00	2	\$600.00	\$60.00	\$540.00
Student Digital 1815742 978035861541 Includes: Digital Student Implementation Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teach Total for Teach A la Carte Items Teacher Materia 1750491 9780358116998	Licenses 5 Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 1 Success Int Digital Licenses Licenses 2 Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades Scher's Corner er Digital Licenses S Available for Purchase als 8 Math in Focus CCSS Teacher Edition Set Grade 3 Math in Focus Posters Grade 3 Math in Focus Classroom Manipulatives Kit Grade 3	\$3,528.00 \$300.00 \$540.00 \$287.50 \$32.50	2 2 2	\$600.00 \$575.00 \$65.00	\$60.00 \$57.50 \$6.50	\$540.00 \$517.50 \$58.50
Student Digital 1815742 978035861541 Includes: Digital Student Implementation Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teac Total for Teach A la Carte Items Teacher Materii 1750491 9780358116999 1748785 9780358105066 978035839095	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 Success Int Digital Licenses Licenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades Cher's Corner er Digital Licenses Available for Purchase als Math in Focus CCSS Teacher Edition Set Grade 3 Math in Focus CCSS Teacher Set Grade 3 Math in Focus CCSS Teacher Set Grade 3 Math in Focus Classroom Manipulatives Kit Grade 3	\$3,528.00 \$300.00 \$540.00 \$287.50 \$32.50	2 2 2	\$600.00 \$575.00 \$65.00	\$60.00 \$57.50 \$6.50	\$540.00 \$517.50 \$58.50
Student Digital 1815742 978035861541 Includes: Digital Student Implementation Total for Stude Teacher Digital 1815753 978035861542 Includes: Math In Focus K-5 Access to Teacher Total for Teach A la Carte Items Teacher Materia 1750491 978035811699 1748785 978035819095 Student Materia 1775665 978035829210 1775665 978035829210 178035829210 1775665 978035829210 1775665 978035829210 178035810506 1775665 978035829210 1775665 978035829210 1775665 178035810506 1775665 978035829210 1775665 17756665 17756665 17756665 17756665 17756665 17756665 17756665 17756665 17756665 17756665 17756665 17756	Licenses Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 Resources 2 Year Grades K-5 1 Success Int Digital Licenses Licenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CCSS Digital Teacher Resources 2 Year Grades Scher's Corner er Digital Licenses S Available for Purchase als Math in Focus CCSS Teacher Edition Set Grade 3 Math in Focus Posters Grade 3 Math in Focus Classroom Manipulatives Kit Grade 3 Als	\$3,528.00 \$300.00 \$540.00 \$287.50 \$32.50 \$843.16	2 2 2	\$600.00 \$575.00 \$65.00 \$1,686.32	\$60.00 \$57.50 \$6.50 \$168.64	\$540.00 \$517.50 \$58.50 \$1,517.68

Total for Grade 3 \$7,925.68

Coupon Code: PRODPB10

14046 Collections Center Drive

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company

Attention: Darla Payne darla.payne@newport.kyschools.us

HMH Confidential and Proprietary

Send Orders to: k12orders@hmhco.com FAX: 800-269-5232 **HMH Orders** 9400 Southpark Center Loop Orlando, FL 32819-8647 Date of Proposal: 5/3/2022

Proposal for Newport Ind School District

					Value of all	Value of Free	Value of Charged
	ISBN	Title	Price	Quantity	Materials	Materials	Materials
;	<u>Grade 4</u> Student Digital L	icenses					
1815742	9780358615415	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5	\$40.00	105	\$4,200.00	\$420.00	\$3,780.00
7	Implementation S	esources 2 Year Grades K-5 success Digital Licenses	\$3,780.00				
7	Teacher Digital L	icenses					
1815753		Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5	\$300.00	2	\$600.00	\$60.00	\$540.00
	K-5	CSS Digital Teacher Resources 2 Year Grades					
		Digital Licenses	\$540.00				
		Available for Purchase					
	Feacher Materials			_			
1750492 1748786	9780358117001	Math in Focus CCSS Teacher Edition Set Grade 4 Math in Focus Posters Grade 4	\$287.50	2	\$575.00	\$57.50	\$517.50
	9780358105077 9780358390961	Math in Focus Classroom Manipulatives Kit Grade 4	\$32.50 \$989.20	2 2	\$65.00 \$1,978.40	\$6.50 \$197.84	\$58.50 \$1,780.56
	Student Materials						
	9780358292142	2020 Math in Focus Student Edition Set 2 Year Print Grade 4	\$20.00	105	\$2,100.00	\$210.00	\$1,890.00
*	otal for A la Car	te Items Available for Purchase	\$4,246.56				
Total f	on Cuada 4		\$8,566.56				
	or Grade 4		ψ0,300.30				
	<u>Grade 4</u> Grade 5 Student Digital Li	icenses	ψ0,000.00				
s	Grade 5	Math In Focus CCSS Student License Digital 2	\$40.00	78	\$3,120.00	\$312.00	\$2,808.00
s	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5		78	\$3,120.00	\$312.00	\$2,808.00
. 1815742	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5		78	\$3,120.00	\$312.00	\$2,808.00
\$ 1815742 1	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5 uccess Digital Licenses	\$40.00	78	\$3,120.00	\$312.00	\$2,808.00
\$ 1815742 1	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5 uccess Digital Licenses	\$40.00	78	\$3,120.00 \$300.00	\$312.00 \$30.00	\$2,808.00 \$270.00
\$ 1815742 1	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Teacher Digital L 9780358615422 Includes:	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 asources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2	\$40.00 \$2,808.00				
1815742 1815742 1 1 1815753	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422 Includes: Math In Focus CO K-5 Access to Teache	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades	\$40.00 \$2,808.00				
1815742 1815742 1 1815753	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422 Includes: Math In Focus CC K-5 Access to Teacher Total for Teacher	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 asources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades ar's Corner	\$40.00 \$2,808.00 \$300.00				
1815742 1815753 1815753	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422 Includes: Math In Focus CC K-5 Access to Teacher Total for Teacher	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades er's Corner Digital Licenses Available for Purchase	\$40.00 \$2,808.00 \$300.00				
1815742 1815753 1815753	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422 Includes: Math In Focus CC K-5 Access to Teacher Total for Teacher A la Carte Items A Feacher Materials 9780358117018	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 essources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades er's Corner Digital Licenses Available for Purchase Math in Focus CCSS Teacher Edition Set Grade 5	\$40.00 \$2,808.00 \$300.00				
1815742 1 1 1815753	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422 Includes: Math In Focus CO K-5 Access to Teacher A la Carte Items A Feacher Materials 9780358117018	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 asources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades ar's Corner Digital Licenses Available for Purchase S Math in Focus CCSS Teacher Edition Set Grade 5 Math in Focus Posters Grade 5 Math in Focus Classroom Manipulatives Kit	\$40.00 \$2,808.00 \$300.00	1	\$300.00	\$30.00	\$270.00
1815742 1815742 1 1815753 171750493 1748787 1788483	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422 Includes: Math In Focus CO K-5 Access to Teacher A la Carte Items A Feacher Materials 9780358117018	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades er's Corner Digital Licenses Available for Purchase S Math in Focus CCSS Teacher Edition Set Grade 5 Math in Focus Posters Grade 5 Math in Focus Classroom Manipulatives Kit Grade 5	\$40.00 \$2,808.00 \$300.00 \$270.00 \$287.50 \$32.50	1 1 1	\$300.00 \$287.50 \$32.50	\$30.00 \$28.75 \$3.25	\$270.00 \$258.75 \$29.25
1815742 1815742 1 1815753 171750493 1748787 1788483	Grade 5 Student Digital Li 9780358615415 Includes: Digital Student Re Implementation S Total for Student Feacher Digital L 9780358615422 Includes: Math In Focus CO K-5 Access to Teacher A la Carte Items A Feacher Materials 9780358117018 9780358105084 9780358390978 Student Materials	Math In Focus CCSS Student License Digital 2 Year Digital Grades K-5 esources 2 Year Grades K-5 uccess Digital Licenses icenses Math In Focus CCSS Teacher License Digital 2 Year Digital Grades K-5 CSS Digital Teacher Resources 2 Year Grades er's Corner Digital Licenses Available for Purchase S Math in Focus CCSS Teacher Edition Set Grade 5 Math in Focus Posters Grade 5 Math in Focus Classroom Manipulatives Kit Grade 5	\$40.00 \$2,808.00 \$300.00 \$270.00 \$287.50 \$32.50	1 1 1	\$300.00 \$287.50 \$32.50	\$30.00 \$28.75 \$3.25	\$270.00 \$258.75 \$29.25

<u>Total for Grade 5</u> \$5,311.98

Course 1

Coupon Code: PRODPB10

Attention:
Darla Payne
darla.payne@newport.kyschools.us

Send Check Payments to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Expiration Date: 6/17/2022

Proposal for Newport Ind School District

Expiration Date: 6/17/2022

Please submit this form with your purchase order

ISBN	Title	Price	Quantity	Value of all Materials	Value of Free	Value of Charged
		FIICE	Quantity	Materials	Materials	Materials
Student Digital Li 1815706 9780358614685	Math in Focus CCSS Student License Digital 2 Year Digital Courses 1-3	\$40.00	106	\$4,240.00	\$424.00	\$3,816.00
Includes: CCSS Digital Stu Implementation S	ident Resources 2 Year Grades 6-8					
Total for Student		\$3,816.00				
Teacher Digital Li	icenses					
1815707 9780358614692 Includes:	Math in Focus CCSS Teacher License Digital 2 Year Digital Courses 1-3	\$300.00	1	\$300.00	\$30.00	\$270.00
Math In Focus CC Access to Teache		#070.00				
Total for Teacher		\$270.00				
Teacher Materials	Available for Purchase					
1750494 9780358117025	Math in Focus CCSS Teacher Edition Set	\$287.50	1	\$287.50	\$28.75	#050.75
	Course 1		1	\$267.50		\$258.75
1748788 9780358105091 1466752 9780547626369	Math in Focus Posters Course 1 Math in Focus: Singapore Math Classroom Manipulative Kit Courses 1-3	\$32.50 \$574.60	1 1	\$32.50 \$574.60	\$3.25 \$57.46	\$29.25 \$517.14
Student Materials						
1775677 9780358292227	2020 Math in Focus Student Edition Set 2 Year Print Course 1	\$20.00	106	\$2,120.00	\$212.00	\$1,908.00
Total for A la Cart	te Items Available for Purchase	\$2,713.14				
Total for Course 1		\$6,799.14				
Course 2	•/					
Student Digital Li 1815706 9780358614685		£40.00	404	£4.040.00	# 404.00	
Includes:	Math in Focus CCSS Student License Digital 2 Year Digital Courses 1-3	\$40.00	101	\$4,040.00	\$404.00	\$3,636.00
CCSS Digital Stu- Implementation S Total for Student		\$3,636.00				
Teacher Digital Li						
	Math in Focus CCSS Teacher License Digital 2 Year Digital Courses 1-3	\$300.00	4	\$1,200.00	\$120.00	\$1,080.00
Includes: Math In Focus CC Access to Teache	SS Digital Teacher Resource 2 Year Course 1-3 r's Corner					
Total for Teacher	Digital Licenses	\$1,080.00				
A la Carte Items A	vailable for Purchase					
Teacher Materials						
1750495 9780358117032	Math in Focus CCSS Teacher Edition Set Course 2	\$287.50	4	\$1,150.00	\$115.00	\$1,035.00
1748789 9780358105107 1466752 9780547626369	Math in Focus Posters Course 2 Math in Focus: Singapore Math Classroom Manipulative Kit Courses 1-3	\$32.50 \$574.60	4 4	\$130.00 \$2,298.40	\$13.00 \$229.84	\$117.00 \$2,068.56
Student Materials	Wallpalative Nit Courses 1 C					
1775681 9780358292265	2020 Math in Focus Student Edition Set 2 Year	\$20.00	101	\$2,020.00	\$202.00	\$1,818.00
Total for A la Cart	Print Course 2 e Items Available for Purchase	\$5,038.56				
Total for Course 2		\$9,754.56				
<u>Course 3</u> Student Digital Lid						
	Math in Focus CCSS Student License Digital 2	\$40.00	99	\$3,960.00	\$396.00	\$3,564.00
Includes:	Year Digital Courses 1-3					
Coupon Code: PRODF	PB10	Attention:		Se	end <u>Orders</u> to:	
		Darla Payne		k12ord	ders@hmhco.com	
Send Check Payment	<u>s</u> to: darla.payı	ne@newport.kyschools.us	5		(: 800-269-5232	
Houghton Mifflin Harco	ourt Publishing Company	fidential and Proprietar	у	9400 So	HMH Orders uthpark Center Loc lo, FL 32819-8647	р
Chicago, IL 60693 008381895	Sold:0000115740 Ship:0000115740	Page 5 of 8	Please sul		vith your purchase	e order

Page **5** of **8**

Sold:0000115740 Ship:0000115740

008381895

Proposal for Newport Ind School District

Newport ind School District							
l	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
To	Implementation S	ident Resources 2 Year Grades 6-8 Success Digital Licenses	\$3,564.00				
Te	eacher Digital L	icenses					
1815707	9780358614692	Math in Focus CCSS Teacher License Digital 2 Year Digital Courses 1-3	\$300.00	4	\$1,200.00	\$120.00	\$1,080.00
To	Access to Teache	CSS Digital Teacher Resource 2 Year Course 1-3 er's Corner Digital Licenses	\$1,080.00				
Α	la Carte Items	Available for Purchase					
Te	eacher Materials	5					
1750496	9780358117049	Math in Focus CCSS Teacher Edition Set Course 3	\$287.50	4	\$1,150.00	\$115.00	\$1,035.00
1748790 1466752	9780358105114 9780547626369	Math in Focus Posters Course 3 Math in Focus: Singapore Math Classroom Manipulative Kit Courses 1-3	\$32.50 \$574.60	4	\$130.00 \$2,298.40	\$13.00 \$229.84	\$117.00 \$2,068.56
St	tudent Materials	50 Feb 1000 1 200 1000 1 200 10 200 10 200 20 20 20 20 20 20 20 20 20 20 20 20					
1775685	9780358292302	2020 Math in Focus Student Edition Set 2 Year Print Course 3	\$20.00	99	\$1,980.00	\$198.00	\$1,782.00
Total for A la Carte Items Available for Purchase		te Items Available for Purchase	\$5,002.56				
Total fo	r Course 3		\$9,646.56				
lm	Program	Services - Math in Focus CCSS Success Plan					
1768899	essential resource Teachers will also	Getting Started: Introduction to Math in Focus CC K-5 Live Online 2-Hour es teachers through their program structure, es, and implementation recommendations. explore Ed, HMH's teaching and learning professional learning pathway in Teacher's	\$800.00	1	\$800.00	\$800.00	
To	30 days. Additional Teacher's Corner learning pathway timeline. A recom- demand interactive teach, and assess	n is the first step on the way to a successful first al training and support will be provided via on Ed. There, teachers will access a guided based on their grade level and implementation mended sequence of live sessions and one e media and videos will help teachers plan, is learning using their new HMH program.	\$0.00				
Total fo	r Program Sei	rvices - Math in Focus CCSS	\$0.00				
lm	Profession Supplementation S	onal Services - Math in Focus CCSS uccess Plan					
1768946	understanding wit on either planning	Math in Focus CC Follow-Up Live Online 1- Hour Grades 6-8 tors in building confidence and deepening h Math in Focus, we provide follow-up sessions instruction, assessing and differentiating leadership success within 2-6 weeks after	\$400.00	1	\$400.00	\$400.00	

Total for Professional Services - Math in Focus CCSS

implementation of Math in Focus.

Total for Implementation Success Plan

\$0.00

\$0.00

Coupon Code: PRODPB10

Attention:
Darla Payne
darla.payne@newport.kyschools.us

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

HMH Confidential and Proprietary

Send <u>Orders</u> to: k12orders@hmhco.com FAX: 800-269-5232 HMH Orders 9400 Southpark Center Loop Orlando, FL 32819-8647

Expiration Date: 6/17/2022

Date of Proposal: 5/3/2022

Proposal for **Newport Ind School District**

Expiration Date: 6/17/2022

ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	Total Savings: Subtotal Purchase Amount: Shipping & Handling:	Joseph Mark Jan († 1772)	\$11,007.0 \$99,062.2 \$14,121.9	24		
	Total Cost of Proposal (PO Amount):		\$113,184.2			
			Please add	d proper sales	s tax to your ord	der

Coupon Code: PRODPB10

Send <u>Check Payments</u> to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Darla Payne darla.payne@newport.kyschools.us

HMH Confidential and Proprietary

Send Orders to: k12orders@hmhco.com FAX: 800-269-5232 **HMH Orders** 9400 Southpark Center Loop Orlando, FL 32819-8647

Proposal for

Newport Ind School District

Total Cost of Proposal (PO Amount): \$113,184.20

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to: Sold to: Newport ISD Newport ISD

30 W 8th St 30 W 8th St

Newport, KY 41071-1352 Newport, KY 41071-1352

- Please provide funding start and end dates.
- Please note that all products and services will be billed upon the processing of your purchase order.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Proposal Expiration Date: 6/17/2022 Date of Proposal: 5/3/2022



Houghton Mifflin Harcourt

Coupon Code: PRODPB10

Send Check Payments to: Houghton Mifflin Harcourt Publishing Company 14046 Collections Center Drive Chicago, IL 60693

Attention: Darla Payne darla.payne@newport.kyschools.us

HMH Confidential and Proprietary

Send Orders to: k12orders@hmhco.com FAX: 800-269-5232 **HMH Orders** 9400 Southpark Center Loop Orlando, FL 32819-8647

Expiration Date: 6/17/2022